T W T ¥ T S e §
(A) WA Te-o7em o

(B) s & i o1 Wi @ wies Wi &
SO I 3 WiE & wler T ¥

(D) RI= 7@ 0 T o7 S 1D

TSR~ FAT' HETER F A ©
(A) ST e
(B) &t ® AR
(C) ©iSt =@

D) =HR I

'IgEl BT’ R BHIOE! MR R
(A) =& i

(B) Ht we

(C) <& Fearm

SD) S

'qU A1 TS HIQT ok T B A ¢
(A) TuUH HE ST

(B) werden WgAl H I &

(O e e ¥ Fw woighh

(D) R EH YR P -




TUIETE 7 '€l & Haed ©
(A) aci

B) T % e

(C) =R Aamen

(D) SREHAT

&t YT T A

(A) faft 3R w1 THE T

@ fafy o138 ymn SAT-3aT U

(C) farfa & fomr s =13 €14

(D) fafy veeh sy, vy o 7 s

[4]
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9. BEETE'fou’ wee ¥ AwEm R

(A) fa=
(C) s&itu

10. ¥& St @ firemds @R W (A), (B), (C), (D) forhed & v @ T4 -

(a) =
(b) we=t
(©) =@
(d) sewia

(@)

A ()
B) O
L) ()
D) @)

11. 4et el @ fusas @ 1 (A), (B), (C), (D) fowea & @&t & w71

(@) =rmd
(b) Tefa
(c) wifeart
(@) Ared

(a)

(&) (i)
B)
© v
D) (i)

(8)
(iii)
(i)
(iii)
(iv)

(6)
(iii)
(i)
(iii)
(iv)

(B) fo=1
«B) &

() =t

(i) wafm
(i) I 3T W1y & T
(iv) 7w

© @)
@@ @)
(i) (iv)
N (V)
m

() Zat
(i) uw difes 7ol
(i) =
(iv) T3l

() @
0 @)
@iy (iv)
(@) ()
i)y ()

[5]
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12. W S @ frrwds wek W (A), (B), (C), (D) Frea @ WA AT

(@) e (i) B =Rl
®) Trer=ht - (i) fawh g

(©) Sz i) @
(@) SrwE (iv) Tiftas ¥ w1 de

@ &) (@© @
A @ Gy @i Gy
B)- ) Gi) @) @)
© @) @ @) @G
WD) (i) ) () ()

13. Hﬁsﬂ@afﬁwﬁmw(A),(B),(C),(D)ﬁmﬁaﬁagq“r;

(@ wg () o9y, T19 & ur
(6) e (i) qaen §a1 & =wE
(©) fumm (ifi) -y e wega

(@ firerTer (V) et = & 91 ME &

(@ @& © @

A) vy & @) i)
B @ @) @) (@(v)x
©) @) @G @) @)X

D) @) Gv) () (i)

D ' [6] CQRP -



14.

15.

16.

17.

18.

TG TR’ U & Aoy v B

(A) WR (B) W
(C) uwm (D) W&
T V=g ' Yy’ & BYEel e ¢

(A) HrEa | (B)
(©) g D)
‘Heq’ o BTET weg w9

(A) wed (B) 1
(C) ufea (D) we=
BTl ' F G W & qowq §

(A) @& «B) I
© =% (D) =
uﬁwﬂ;ﬁaﬁm@r@nm),(B),(C),(D)ﬁmaaaagﬁ:
(@) TE () BR & e 9 919 & it

(6) i (if) Trg-sren

) Tt (i) qEq & A o W1 T FY |
(d) Tan (iv) W

@ & (@ @

(A) Gy @) () (@v)
uB) (W (i (D) (i

© @) @ @i v

@ v @ @) (i)

[7)]
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19. e wifee v sfrere forrt @ wom daw HH 47
(A) =i firgds
(B) i < et
© e R e
(D) =d wEER yaE Zad

20. W-Iﬁiﬂﬂﬁ@‘@-llﬂmm—mﬁqw%|ﬁ§ﬁ-lmﬁaﬁq§ﬁ-ﬂﬂm
aar e QU T g ¥ vt sy

Heii-1 -1
@ = () 7
®) ¥ A:..;f(;g N
(© @ (i) <

@ =~ W g

@ & @©©@ @

SHA) vy @) @ i)
B) @) @) @) O
© Gi) @ @ @)
O @ ) @) )

21. Trefafaa 9l § | 16 9 &l 9
(A) s & g | <ol gigar o @ <
(B) sl @t 9 @ gal gfedr W1 ™ fou
(©) Fdi % drg § Telt Fhean 3w w4
(D) i & g § <&l qfedr J wor @ fou

D [8] CQRP- 2



22.

23.

24,

25,

‘TSt ot wet fadan w9 g ?
(A) wHrg (B) Hwifsrh
(C) WSt (D) THIE

-1 o =R wmfas v w@ g1 § geEfve gaw & A fag e & gEr-l e e
qet-11 | Hifae qen = K 1 Fe | wet sw g

-1 -1
(@ fangst ) g5 v
&) Frgad (i) srgdivE 9o
© wi-wi§ (i) =g T
@ wi-mgs (v e
e
@ B ©© @@
(A) @(v) @iy @) ()
B) Gi) @(v) @) ()
© @) @ @ @)
D) @) (@) @v) i)

‘e are el wen s ' —3g A ¥ SR-wm A= ¥ 7
(A) wHar=d (B) e
(C) Hgar= (D) 78 A = st e

&<t wmm & Igva T foem % wEY T WY S gu sfusmi Muwdtel X o 5 i ¥
i w9 QT & W g o W R erfvfea o R 1 56 omee ¥ veva W@
w0 e ?

(A) &R > WiFd > TIfe > YUV > AeEg

(B) ¥&Hd > wifer > I > Wihd > TARE

(C) “{i‘{-'qu—d>31q$i¥r>m§m>trrﬁ1>m§

AD) H&Fd > el > WHd > AW > aEg

[9] CQRP- 2



-1 1 THeTH g=i-
26. eI 3 =T ¥ v e 4 i Y- 3 s g T & (AT T e
& i Ten 9 faw g e ¥ W I g ;

-1 -1
(@) @ () T W=
) = (i) TR v
() g (i) Yot =
(@) A9 (iv) fadem v

C TR

@ & @© @
A) (v) Gi)y @) @)
B) G vy G) @)
© @) O Gv Gi)
M) & @) v G

27. ‘v 1 faeim v €

(A) & (B) e, .

28. ‘Hr<d' FH A R ?
(A) wEET=S Hal
(B) =ufaaras |

Q) TuETEs fagme
(D) wardTfiyes fagmao

29. < Wiy forelt WIS S WY Ik A1) g S G fafire o wehe e ¥, 5@
T & ?
(A) wTF (B) v
© v | () =

D | [10] CQRP- 2




30.

31.

32.

33.

'H@ﬂﬁ“ﬂﬁaﬂﬁﬁ¥ﬁ$ﬁﬁﬁﬁfmh

(A) dq + S
(C) @G+ 3IWd

gt e B W Ve
(A) ¥
C) &

gty w1 A S ErE A |
(A) 91 §HE = et g
(B) T & v &l &

(©) Tl v &
(D) et forsren g

B FEERE
(D) @a1+TTd

-1 3 91 v w11 & 37 a1d feg T € tqa?-lmﬁwww-naﬁﬁqamﬁ

ﬁQﬂQ%ﬁiTﬁﬁEﬁIﬁﬁQ:
Jeii-1 eit-11
(@) w2 . () dafemn
(b) < O i
(c) a1y (i) Hgd

(d) 398A (v) Tr’aE
@c:

@@ & @© @
(A) () @iy (@) @)
B) @) @) @ ).
© @ @ @ (3
D) @& Gv)y @) i)

[11)
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34. ﬁ%mmﬁ'@m%‘lsﬂﬁ@aﬁwﬁﬁﬂ%ﬁﬁ?@ﬁgw Al

35.

36.

qfedT & 2 :
(A) = (B) <
(©) = (D) T

-1 3 T e R T R A e o A T R T
FEit-11 | Hifae e 19 g 7¢ Fe ¥ w1 W g :

-1 -1
(@) erafor (i) fau
(6) <zt (i) 7%
(€) i (i) {9
(d) arimarfo (v) =t

e

@ & @@ @
A @ @) vy (@)
B @ @ GG @)
O () Gy) @) ().
(D) (v @) @ i)

HA-9 U=

gei-1 &1 e

2 IR wreg feg e ¥ 1 37 =l 1 AT Pie/enis W e wed g oy T e | wdt sw

EELE .

() 9= (#) o9

(iif) TR (iv) TR
e :

(A) Had (i) TS T

(B) () (i) Sl & IS ©

©) (), (i) W (i) 1 1 IS ®

@D @), Gi), Gii) T (iv) =T/ & S €

[12]
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37. @ Fifveq #e wm 4, ‘DEPLORE’ =1 ‘2322736922° 3ik ‘RHETORIC’ &I
1919222691824’ % w9 | F2FA T i ¥ 1 3w § TARNISH' 1 @ g5
fan sem 2
(A) 226181491019.

UB) 22695181019,
(C) 20269518198
(D) 221181418198

In a certain code language, ‘DEPLORE' is coded as ‘2322736922’ and ‘RHETORIC’
is coded as ‘919222691824’. How will “TARNISH’ be coded as in that language?

[

(A) 226181491019
(B) 22695181019

(C) 20269518198

. online learning  J§3
platform

(D) 221181418198

38. 3W fawey 1 999 F W @H0 FEN § IE ¥R watva @ N ol g, el gen
¥ 3R vt wem, uiedl 9 | gafud §
32:896 5 :41. :2+:53 2597
(A) 1763 (B) 1517
(C) 1640 (D) 1482

Select the option that is related to the third number in the same way as the second
number is related to the first number and the sixth number is related to the fifth

number :

=%

32:896::41 :?::53":25:9?
(A) 1763 (B) 1517
(C) 1640 (D) 1482

— A L4




39. A& AH F faad e €2

(A) 52
(B) 54

© 50

(D) Wk H |/ Hi &

How many triangles are there in the given figure?

(A) 52
(B) 54
(C) 50
(D) None of the above

D | , [14] CQRP- 2



40. ﬁqwaﬁmﬁﬁnﬁmﬁﬁwﬁﬁqﬁl%m?ﬁﬁmﬁmﬁﬁﬁmf
THHER TF E, B 4 9rg ©9 9 T4 9w 4 B Wil ot ¥ oag a3 L R

FHA-A/EA-4 Frepd sfiymyAl #1 aifs ®9 9 ST Hal 8/ ¢

AIFIT -

(1) F© $d Hel 8d &

(2) % T wa 19 g0 €

(3) fak drn I3 €

et :

(I) 9 9l & %A B & GIET § -
() | wdl & T 89 H G &
(A) Tok frepd [ SR tar &

(B) T 1 3R II SHT o1 &Rw 5% &
(C) =% fr=rd s1qae & oa

(D) ok f=pd 11 ergeRor = &

Read the given statements and conclusions carefully. Assume that the information
given in the statements are true, even if it appears to be at variance with commonly
known facts. Decide which of the given conclusions logically follow(s) from the

statements :

Statements :

(I) Some flowers are fruits

(2) Only few fruits are plant

(3) Only plant is tree

Conclusions :

(I)  All plants being fruits is a possibility
(I) All fruits being flowers is a possibility
(A) Only conclusion 1 follows

(B) Both conclusions I and II follow

(C) None follows

(D) Only conclusion II follows

B [15] CQRP- 2



UTH WO 41 3T 42 & fag Pdr .

AR W WA Ry Peafifan wel % 3w AR *

T i R A D wEm g e ¥, 9 I A ek lotﬁ.aﬂﬂﬁﬂﬁf’.ﬂqﬁ?'m%l
ﬁﬂf‘ﬂﬁﬁ‘{ﬂﬁ\’nﬁmﬂ.Wﬁﬁsmqgamﬁaﬁﬁgsﬁaﬁaf&rﬂlﬁ 6 . T
R 1 W WE Y1 oW ww <l ol ¥ ok fg £ W TEeR % e 4 LSO g
ﬁ‘T‘iLW“gWW#Wﬁmhﬂmﬂaaﬂ%m%amangmq‘éﬂm%Gﬁﬁg
M¥ @ H R

Direction for Question Nos. 41 and 42 :
Study the information carefully and answer the questions given below :

A person starts walking from point M, he walks 10 m North and reaches at point P. From point
P, he walks 9 m in East direction and reaches at point S. From point S, he walks 6 m South
and reaches at point /. Now he takes a right turn and walks 4 m to reach at point L. After

reaching at point L, he starts walking in South direction and reaches at point F, which is

East of point M.

4. 3 Fag Vg SR 3 0 ol X ¥, A MR N o 2
(A) 3417 =
(B) 8 .
(C) 10V2
(D) 2y34 =

If point N is 3 m West of point S, then what is the shortest distance between M and
N?

(A) 3V17 m

(B) 8m

(©) 102 m

(D) 2¥34 m

D
[16] CQRP- 2



42, e fagJ, fag PR 5H. @ H 8, @ fag J fag 1 =t forg femm o &2
(A) I
(B) farr-g
(C) wf&qun
(D) SW-uf¥=H
If point J is 5 m East of point P, then in which direction point J is with respect to
_ point [?
(A) North
(B) South-East

(C) South

(D) North-West

43. v9 GEm W W W W Frefatad sEen § v e (7) B e 90 9
143, 159, 207, 219, 255, ?
(A) 279 (B) 275

(C) 264 (D) 304

Select the number that can replace the question mark (?) in the following series :

143, 159, 207, 219, 255, ?
(A) 279 (B) 275

16 g 1 v yer [17] CQRP- 2



44,

45.

e

D

g PR T e A ENGINGIR® 7 1310 % e i s INCOME? i “f’f' %
N Sl G s &1 s e 1 TEACHIR A A g P g

(A) 136

(B) 122

(C) 125

(D) 129

In-a certain code language, ‘ENGINEER’ is coded ns *131* and ‘INCOME’ it coded

as *97". How will *TEACHER” be coded as in that language?
(A) 136
(B) 1
<€) 1
(D) 129

S WEN w1 9e WSt Prafafea swen § v fam (0) # whreafi w5 @y
33, 35, 42, 54, 66, 96, 113, 169, ?

(A) 174

(B) 231

(C) 207

(D) 191

oo
[ 4]

o]
LA

Select the number that can replace the question mark (?) in the following series ;

33, 35, 42, 54, 66, 96, 113, 169, ?
247 R R

(A 174°F ="

(B) 231

(C) 207

(D) 191

+2 [18] ‘ & CQRP- 2



46. Tow M Yt v s Y sie wa wEn W T W o s ww (2 T

wfaeufia 7 | .
7 4 6
927 | 2 | 349
1474 | 149 | 947
(A) 107 (B) 128
(C) 111 (D) 119

Study the given pattern carefully and select the number that can replace the question
mark (?) in it :

7 i 6

927 | 2 | 349

1474 | 149 | 947

A) 107 (B) 128
(C) 111 (D) 119
47. 3G fasey &1 994 H{ Togd e 39 @ ¥ gafua § 99 fgg w2 ¥ d=nd ¥ -
(124, 88, 53)
(A) (56, 137, 48) X (B) (147, 64, 51)
© (171,97, 67) (D) (84, 128, 56) x
Select the option in which the numbers are related in the same way as are the numbers
in the given set :
(124, 88, 53)
(A) (56, 137, 48) (B) (147, 64, 51)
© (171, 97, 67) (D) (84, 128, 56)
D [19] CQRP- 2



BOR ST UV, W ol X s v &  ween § < g oo SE 6 FE T
mﬁ't"ﬁqﬂq*ﬁr‘n9mﬁmﬁmﬁﬁmglwaﬂ%w—ﬁmaﬁaﬁﬁa%mT
FAE TNV F et A 1y e oo g A AR 2 S 0w W
%wﬁwamﬁm%lrxanﬁmgsﬁqﬁgmg,apaﬁﬁ%;ﬁmwﬁ%l

Direction for Question Nos. 48 and 49 :

Read the information carefully and answer the questions given below :

FyQ, RS, U, V, Wand X are the nine members of a family who are stuck in a house due
to a severe cyclone, Among the nine family members, three married couples are present. Both
the parents of a child are alive. R is the paternal uncle of 7, who is the only daughter of V.
W is the patemal aunt of X, who is the only daughter of R. S is the daughter-in-law of O,
who is the father of W. V is not married to S. U is the mother of P, who is not a female

member.

48. U V § 1 gy &2

(A) = (B) et

(C) —mt D) T

How is U related to V2 - £,

(A) Mother (B) Sister-in-law
(C) Maternal aunt . (D) Mother-in-law

49. T Q 4§ a1 gay 2?2

(A) =g (B) ¥
(C) et (D) =&
How is T related to {7

(A) Daughter-in-law (B) Daughter
(C) Grand-daughter | (D) Sister

D [20] CQRP- 2



50. fe@ U st SR Premel it v A w3 | 7 T offeng B el # & SR 6
?, TElen I€ WA ®9 ¥ T9 qed @ s v @ 81 98 9 o e Se-aren-d
frepd sifirmerl o1 ifdhes w9 ¥ sty e AW E

Y FHET

() i e foe & (2) % el T TG R
(3) Had W T §

fre

(D 99 =T T B gy © (1) %o g foaen & "ad &
(111) |+ w1 e &) v © (IV) &3 29 Wgt &l €

(A) To% Freed 11 SR 111 erqemor = §
(B) il frewd arqaor v €

(C) =¥ Frepd argewor & wvean

(D) o frerd 11 o7aror e &

Read the given statements and conclusions carefully. Assume that the information

given in the statements are true, even if it appears to be at variance with commonly

known facts. Decide which of the given conclusions logically follow(s) from the

statements :

Statements :

(1) All cities are districts ¥ (2). No city is state

(3) Only country is state '

Conclusions :

(I) All cities can be state (IT) Some states can be district

(IIT) All countries can be district (IV) No country is city
(A) Only conclusions II and III follow |

(B) All conclusions follow

(C) No conclusion follows

(D) Only conclusion 1I follows

D [21] CQRP- 2



weF HEAr 51 37 52 & fog fdet - B

i AT @31 F Az

17 e
faf =1 wfawm feam 2

aﬁzowﬁem-maﬁaﬁmﬁﬁnﬁémm

[VEVEY, -

T ) VvV oﬂ?i[’l
0 O

R %%| HAA

Learning App

India's best
anline learning
platfarm

Direction for Question Nos. 51 and 52 :
Following pie charts show the percent of fund allocated to 6 different sectors in Union

Budget of a country in three different years :
Total amount allocated to 6 different sectors in year 2017=200 crores

Year 2018 Year 2019
vvv| Industry % Agriculture
**.| Education ogog Other
[22] CQRP- 2



51. 2017, 2018 3R 2019 W ¥ 6 WA W amﬁmgmnmmmdzszeﬁmh
il =) fierst et ) seafan A% W s s A S nfn w1 I S
HIfY
(A) 69 : 38
(B) 276 : 205
(C) 6527
(D) 387 : 1582

s

The ratio of total amounts allocated to these 6 sectors in 2017, 2018 and 2019 15
45 6. Find the ratio of maximum to minimum funds allocated to any of the given

scctor in all the three years taken together :

(A) 69 : 38
(B) 276 : 205
(C) B8 : 27

(D) 387 :152

52 9fz 2019 § OF SEm-o@W &= @ SwEfed @ WA ¥ 400 wg ¥ @ 2019 iR G
S5 A oydfea Uiy w6 &% § 2017 @1 wf | feen i sfies €2
(A) 40%
(B) 50%
(C) 37.5%
(D) 45%

If total amount allocated to 6 different sectors in 2019 be ¥ 400 crore, then by how
much percent fund allocated in defence sector in 2019 is more than that of the same
sector in 20177

(A) 40%

(B) 50%

(C) 37.5%

(D) 45%

= 3 ~AADD J 2



YT HAT 53 3R 54 & v Prdyr .
QT T W H e W oweE) % v A

ABC W w1 & 2014 ¥ 2019 ¥ s o Frafa (w0F H)
Z B!
fraf
800 |- .
r'h
ndia's bes 700 [
Dil ine Ie.nt'}'nl :g T E ‘%
platform PR 600 1— o "
b g o — n
e & o - ey g
& 500 - S .2
-
~ 400 |~ 2
T o0k H &
£ 200
E 100 —

0 =014 2015 2016 2017 2015 20715

Direction for Question Nos. 53 and 54 :
Study the given graph and answer the questions that follow :

Imports and Exports of country 4BC during the year 2014 to 2019 (in crores)

Imports
Exports
800 |- ~
700 — a
s © oﬁrzf.z;;:‘:g ~
600 1= m o - platform g
v vy vy \T\ &
500 £ 2 ¥

413

326
293

Imports and Exports (in crores) —
g
[

0 =014 2015 2016 2017 2018 2019

[24] CQRP -
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53. N ABC % w2016, 2017 st 2010 T b, ad 2015, 2006 9 2008 % 7

54.

A A A foga # 7
(A) 4.9
(B) 3:5
(C) 2:13
(D) 4:5

What is the ratio of total cxports in the years 2016, 2017 and 2019 to total imports

in the years 2015, 2016 and 201¥ of the country ABC?

(A) 4:7

(B) 3:5

(C) 2:3

(D) 4:5 2 DH:":?:'%ES s

T 2014, 2015 #2018 4 =@ ApC "= A it ad 2014, 2017 =t 2019 1 =y
ABC & e Amam A e wfama w6 &7

(A) 31.25%

(B) 28.57%

(C) 41.66%

(D) 37.5%

The combined exports of the country ABC in the years 2014, 2015 and 2018 are what
percent less than the imports of the country ABC in the years 2014, 2017 and 20197
(A) 31.25%

(B) 28.57%

(C) 41.66%

(D) 37.5%

[25] CQRP- 2



55. fot @ 2 W ¥, ‘EDUCATION’ %1 ‘GHFXDLWQR’ ferdl ST B
T ‘FRAGRANCE' =1 9 ﬁ%—d fepan <o ?

(A) UIJDUQDHF (B) UIKDTRDHF
(C) UHJDURDHGA (D) UNIDTQDGF

In a certain code language, ‘EDUCATION” is written as ‘GHFXDLWQR”. How wil
‘FRAGRANCE’ be coded as in that language?

(A) UUJDUQDHF (B) UIKDTRDHF
(C) UHIDURDHG (D) UUDTQDGF

56. ‘P#Q =1 ad ¥ ‘P, QW Uy
‘P@QO ®adR ‘P, QR agH R
P& QO WMAIAGR'P, Q& i &
PO FMIAIT ‘P, Om g &'
W CHF@N% J #G & U# Z faan wm, ot Freifafaa § | #H-w1 Foa T8 TE
§?

(A) J, ZH TR
(B) NaR U Wi &
(C) F,US sgq &
(D) G, CH AT &

‘P# O’ means ‘P is the husband of O’
‘P @ (' means ‘P is the sister of O’
‘P & O’ means ‘P is the mother of O’
‘P % ()’ means ‘P is the son of O’

IfC#F@N %J #G & U# Zis written, then which of the following statements is not
correct?

(A) Jis the father-in-law of Z

(B) N and U are brothers

(C) Fis the sister of U

(D) G is the mother of C )
° (28] CQRP - 2




57, aﬂﬁmaﬂwﬁﬁmﬁ?ﬁvﬁ#@wﬁmﬂmmﬁuﬂ%ﬁﬂmwm
umﬁ@rﬂwﬁw%:
8:576 : : 13 :2
(A) 2210
(C) 2366

(B) 2197
(D) 2112

Select the option that is related to the third number in the same way as the second
number is related to the first number :

8 : 576 : : 13 :?
(A) 2210 (B) 2197
L) 2366 (D) 2112

58. fr=rieifEa sfaen & A o8 (7) ¥ ™ W =0 am?

hKr, gMo, fOl, ?, dSf

(A) eRj
(B) ePi
(€) eQi
L) eQh

Which will replace the question mark(?) in the following series?

hKr, gMo, fOIl, 7, dSf

(A) eRj
B) ePi
(C) Qi
(D) eQh




59, Wﬁ@ﬁmﬁa@%wwmmgﬁﬁﬁﬂht@

60.

61.

@r| wE q TH 9§

S UF ST ¥ 1 IW ACT 316N wyg 1 MY
(A) EHL (B) PSW

(C) ILP D) SVY

; - f which three are alike
In the following question, four groups of letters arc given, out ©

in a certain way, while onc is different, Choose the odd one :

(B) PSW

(A) EHL
(D) SVY

(C) ILP
A 3R B T 9 & HAW: Soaﬂwoﬁﬁfﬁ{aaﬂm%téwmﬁim?ﬁmﬁ%
F9 el & a1 4 %M S5 3w ¥ ik wyvi @ 48 fai F g @ o & 1 fera fo A A 4 7

FIY BreT ?

(A) 16
(C) 18

A and B can complete a piece of work in 50 days and 80 days respectively. They begin

the work together, but 4 left after some days and the whole work is completed in

48 days. After how many days 4 left ?
(A) 16

(C) 18

U GHIGR 3794 WM & &Td §od § x% ETH IH WHM F1 TH fafed wwar & sk 3g
ﬁ%aga:w19%ﬁqzém%:ﬁ3ﬁ8%¢r.mum%,?hxwm€rm;

2
(A) ]6-3—% (B) 30%

(B) 25
(D) 20

(©) 25% (D) 33%%

A shopkeeper marks his goods x% above the cost price and allows a discount of 19% on

the marked price. If his profit is 8%, then the value of x will be -

2
(A) 162% (B) 30%
©) 25% (D) 3331%




o+ 1)3
62. AR (x4 1)1 (3¢ 43 F(2=x) =3(x + 1)(3x - 4)(2 - x) B, T x FT EW :

63.

64.

65.

2 I

(A) = | 1 1
3 B) 3 © - (D) 3
+ 13
§ (4.‘[2! DT Bx-ay} 12 —x)° = 3(4x + 1)(3x - 4)(2 - x), then x will be equal to :
(A) = ®) . ! L
3 ) 3 (C) 'g (D) o
V6ot Tor e ot o
(A) 3.2 (B) 3 (C) 6 (D) 6.2
What is the value of \/6+\/6+\{6+... ?
(A) 3.2 (B) 3 ©) 6 (D) 6.2

@mﬁmﬁwﬁ%a@a@ﬁ?ﬁaﬁﬁmm@aﬁ%mﬁﬁ%ﬁsﬁaﬁm
Hﬁﬁﬂmaﬁtm%mﬁmﬁaﬁmm%ﬁﬁmﬂqﬁaﬁ@ﬂaﬁﬁmm%:

(A) 60% (B) 35% (©) 65% (D) 75%

The number of girls appearing for an admission test is twice the number of boys. If
55% boys do not get admission and 30% girls get admission, then the percentage of
candidates who do not get admission is :

(A) 60% (B) 35% (C) 65% (D) 75%

AWB%WWW:PﬁQﬁTQﬁP%ﬁI@{H}ﬁmmé;aﬁ,AaﬂzB%
aaﬁr*é‘mrmmm:6Eiz‘r'3ﬂ'<Séﬁifﬁ‘{ﬁﬂﬂlqﬁBﬁnﬁwsm./ﬁ.a?ﬁAaﬁwﬁr
(fereit/d. W) & : |

(A) 36 (B) 28 ©) 42 (D) 35

A and B started their journeys from P to Q and Q to P respectively. After crossing each

other, A and B completed the remaining part of their journey in 6 hours and 8- hours
respectively. If the speed of B is 36 km/hr, then the speed of 4 (in km/hr) is :

“AY 36 (B) 28 (C) 42 (D) 35



66. T HEI F BT A 3,969 T H 1y e F 4 | 7y weliss oA 3 H1 H A D0 H HEAF

67.

68.

TR F9C fou, | w0 A o e wen @
(A) 53 (B) 67
(C) 63 (D) 59

The students of a class donated a sum of Rs. 3,969. If each student donated as many
rupees as the number of students in the class, then the number of students in the class
1S

(A) 53 (B) 67
(C) 63 (D) 59

ﬁqmaﬁﬁ_%mm‘qﬁwﬁﬂm%ﬁaﬁﬁmﬁwmm?
21,11,27,8,5,12,7,23,3, 14,9, 19

(A) 1.25 | (B) 1.75
(C) 145 (D) 1.5
What will be the difference between mean and median of the given data?
21, 11,27, 8,5, 12;7,23,3,14,9.'19
(A) 125 B) 175
(C) 145 (D) 1.5
T = I I S K A, 71 <l R, A e W g 8% N 44% Fi gfg
&l ST | 39 AT ¥ foraan qiads 22 P
(A) 60% (B) 72.8%
(C) 96.8% b (D) 82.4%
Each side of a cube is increased by ‘K’ cm, such that its total surface area 1s increased by
44%. What will be the change in its volume?
(A) 60% (B) 72.8%
(C) 96.8% (D) 82.4%

~
FA _ PP



69.

70.

P QAT g S & o 7 G s v stk s s ;60 T,
56%%44%%!%%@'%81; %3&( 90_% gy i wrt % AT
11

VHER: 4:1,5:3 87 1°se.qqnﬂam%|rn:ﬁaﬁ§1mmmmﬁ?qm
SUTH Tl qH Wl AE W TN fiFam €2

(A) 7:11 (B) 11:35

(C) 15:28 (D) 9:7

A milkman uses three containers for selling milk and their capacities being 60 litres,
56 litres and 44 litres respectively. He fills 83%%, 85%%and 90%% of the
containers with a mixture of milk and water in the ratios 4 : 1, 5 : 3 and 7 : |
respectively. What is the ratio of total quantity of water to that of milk carried by
him?

(A) 7:11

(C) 15+ 28

<1 9g9El % HCF 3R LCM &%: (3x + 1) 3k (2203 — 15x2 - 9x + 2) ¥ af @& wgwR
(6x* + 5x + 1) %, @ g90 ag9R FA T ?

(A) 11x2-13x+2

(B) 11x2-13x-2

(C) 11x% + 13x +2

(D) 11x2 + 13x -2

The HCF and LCM of two polynomials are (3x + 1) and (223 - 15x2 — 9x + 2)

respectively. If one polynomial is (6x2 + Sx + 1), then what is the other polynomial?
(A)  11x2 - 13x + 2

B) 1x?=13x=2
(C) 1lx%+ 13x + 2
(D) 11x% + 13x - 2

[31] CQRP- 2



71. PaﬁTQﬁtﬁaﬁnﬂm-aam—mﬂa?qi@ﬂtﬁﬁlmﬂR,Paﬂ?Qﬁaﬁfaﬂaﬁzﬁw

7 390 ¥ TUW Yo W @i T Afe P 1 T 1% ol SRR Q W E Y%, FACE
Qﬁmr@mamﬁamaﬂnmmm%:amRyﬁﬁwaﬂsﬁ}%mm

YT P, DS T oW O w0 R AR _1'=38_6_% of x &7
13
(A) ¥ 780 (B) ¥ 630

(C) T 840 (D) 7 819

P and Q purchase two different articles at same price. Later on R purchases both

articles at same price of ¥ 390 each from P and Q. But profit of P was % while

profit of Q was %, since Q calculates his profit on SP. If R sclls one of the articles

to S at y% profit, then what is the cost price for Sif vy = 38—?—% of x ?
13

(A) ¥ 780 (B) ¥ 630

(C) T 840 (D) ¥ 819

72. A B = W g 759 felt. ¥ fag 4 ¥ @ =wfwm ww @ w7 F wE
63 fpet e s 91 fdt/der St i ¥ ST AGN YE FW € | 5G9 A A A
fag B W TE=a § iR T1qW oew B, @ C W ¥ Al R He@ &1 8 ¥R CF A
H g0 A B
(A) 132 e (B) 135 fem
) 140 fem. (D) 138 fait
Distance between A and B is 759 km. From point 4, two persons start their journey with
speed 63 km/hr and 91 km/hr respectively at same time. When faster person reaches at
point B and returns, then meets slower person at C on the way. Find the distance between
B and C :

(A) 132 km (B) 135 km
(C) 140 km (D) 138 km
D [32] CQRP- 2



73. T&F 9, agﬁaABcoaﬁmﬂmgmﬁmwmg,mw AB = 11.2 ¥,

74.

Bc=8.4ﬂ1ﬂ.aﬂzcz):ﬁ.mq’r.%mogmaﬁamgw.ﬁ%:

(A)y 7.7 (B) 9.1

(€C) 8.6 (D) 9.8

A circle touches all four sides of quadrilateral ABCD whose sides are AB = 11.2 cm,
BC = 8.4 cm and CD = 6.3 cm. The length of side AD, in cm is :

(A) 7.7 (B) 9.1

(C) 8.6 (D) 9.8 |

TF W H IHH YR F GOARK 2 THFS W T4 YFER FE T 7F 59 TER a4 o
Vg AR S M F T F I 125 : 91 B 9w 21 AR WF SS9 57.6 T

?,ﬁlméwﬁgﬁ‘m@mﬁﬁqﬁwmi@ﬁmwm:
(A) 7.2 |41,

(B) 8.4 .
(C) 9.6 |t
(D) 8 9.

A cone is cut parallel to its base into two pieces in such a way that the ratio of
volumes of smaller cone formed and other part is 125 : 91. If the height of the cone

is 57.6 cm, then find the height of the point from the base at which the cut was

made :

(A) 7.2 cm
(B) 84 cm
(C) 9.6 cm
(D) 8 cm

- -



76.

10 92 W ¥ Sy § 59 T, & i qq s § o 9N 9HE Wi S
ﬁﬂﬁ@ﬁﬁﬁﬁwg'(m.féaﬁ)?

(A) 5 B) 4

i 3 (D) 45

A boat takes total 10 hours to cover 136 km in downstream and 84 km in upstream.
The time spent to cover 51 km in downstream is equal to the time taken to cover
36 km in still water, Speed of boat in upstream is how much more than the speed
of current (in km/hr)? |

(A) 5 (B) 4

(C) 3 (D) 4.5
Wmm%mm(mimmm@ 15% ufad ad &1 XA 3

(A) ¥ 25,167
(B} ¥ 22,518
(C) ¥ 23,842

(D) ¥ 26,496
Find the compound interest (in ¥) received in 2% years on an amount of ¥ 57,000

at the rate of 15% per annum, computing the interest on compound annual basis (up

to the nearest ¥) :
(A) T 25,167
(B) ¥ 22,518
(C) ¥ 23,842

(D) ¥ 26,496
CQRP -

2

[34]



77.

a, b ai?t c 3 s -
™ wwa s et dend w oywr € fe o-abcabcabc...zlg-:

@+ b+ c) o 3w i - .
(A) 11 (B) 8§
(©) 13 D) o
, b i igi
a, b and ¢ are three single-digit numbers such that 0.abcabcabe...— 12 Find the
value of (@ + b + ¢) . 37
(A) 11 (B) 8
©) 13 D9

78.

g 57=7"=35° %, &t c T UH T Hfw

e —

D

(A) Z‘*_‘ z' ) :’b_
(C) a(fb (D) aa_bb
If sa —7b —35°, then find the value of ¢ :
) ® <t
© ;"’éfg ® 2
Pt [35] CQRP- 2



Wy |WE&AT 79 3R 80 & fow frdyr .

SAER B S 98 R R Ry T v ¥ s

S TR TH F FR TH W T ¥ 99 4 F o) o § sfus a9 & &9 K, q F
F IF TR T R Aw M F AE AR ) atem F o arem w9 @ T | W
a‘fagWﬁﬂﬁﬁaﬁta‘mgﬁwﬁiﬁwaaﬁagﬁﬁmmﬁﬁ%lmﬁ
AR Tl G F ¥ e ¥

Direction for Question Nos. 79 and 80 -
Study the following information carefully and answer the questions given below :

Eight boxes are kept one above the other. More than five boxes are kept above box A.
Box K is kept immediately above box F and immediately below box M. Two boxes are
kept between box F and box W. Box H is kept below box W and above box Q. Box B

is kept below box Q but not immediate below. At least four boxes are kept below box F.

79. fr=fafaa 4 @ wiF-a1 et 22
(A) =i 4 gog 49 &

(B) w9 B, S H & W

(C) 9 M, afed W & Jt& =

(D) 99 H % IR fad i 9 §

Which of the following is true?

(A) Box 4 is kept at the bottommost position
. (B) Box B is kept above box H

(C) Box M is kept immediately below box

(D) There are only three boxes kept above box H

: = —



§0. =R H * i ; ;
R @ sl W den, —— ¥ gw @ wwd @ gen § T
[{RE
(A) X B) F
Number of boxes kept below box H is same as number of boxes kept above __
A) K (B) F
C) 4 (D) M
81, fou U Yo w1 T swrm Wt ol w gem @ v H frd ye faw (7) F =
W wfeeenfya faran s wwar @ -
33 ? 29
169 | 144 | 529
1102 | 1861| 864
(A) 37 (B) 51
(C) 26 (D) 43
Study the given pattern carefully and select the number that can replace the question
mark (?) in it :
33 ? 29
169 | 144 | 529
1102 | 1861 864
(A) 37 B) 51
(C) 26 (D) 43
D




82, MR R ¢ wed ¥ ww NfpwvE (o e  fagd g @ '"‘""‘r-_ Lafo I ¥ ‘.’”'_""'\'
w3 Pt wronol v v w ag qu wen 8 6wl smommond e
N fafea ¥IA .
U
T R TR N M W W e vl w oifwwan w0 % e s wid b,
S S WM ¥ wewl @) [ Iverm sy van w wwd b
(m RN W arfofiaa ot Aa ma) W R @ S, @ WEA R ST w5

St F ST ¥ g g

(I) 99F sm™ ¥ fau 99 a7

(A) fRE uron | fifeq

(B) wRom 1 3iR 11 3 fafeq
(C) f&& uren 11 fafeq &

(D) 13RI Y A 9 ot fifeq 77

In the question given below, there is a statement followed by two assumptions
numbered I and II. You have to consider the statement and the following assumptions,
and decide which of the assumptions is/are implicit in the statement :

Learning App@

India's best
¥R online learning #&3
platfarm

Srtatement :

Equality of income throughout a community is the essential condition for maximising
the total utility which can provide total available income to the members of that
community.

Assumptions :

(I) If extra incomes were taken from the rich and given to the poor, the total utility
experienced by the community would increase

(I) Equal pay for equal work

(A) Only assumption I is implicit

(B) Both assumptions I and 11 are implicit
(C) Only assumption II js implicit

(D) Neither I nor II is implicit

D [38] CQRP- 2



WY HEAT 83 3iF 84 % fory frdwr
ﬁmﬁ@ﬁaﬁaﬂﬁaﬁm@qﬁmt@ﬂquﬁmwﬁ:
m%!ﬂ‘ﬂ,M%eﬁﬁmwwﬁﬁwaﬁtmmm%tﬁmﬁﬁ
1T T ¥ W, e &1 o, Wy o ghe & @ T ¥ o, e ol
9 F W@ wet ¥

Direction for Question Nos. 83 and 84 :

Study the following information carefully and answer the questions given below :

Rohan, Raunak, Sushma, Sandip, Reshma, Sahil, Ruhi and Sristi are sitting round the circle
and are facing the centre. Rohan is second to the right of Reshma who is the neighbour of
Sushma and Sahil. Sandip is not the neighbour of Rohan. Sahil is the neighbour of Ruhi.
Raunak is not between Sandip and Sristi. Sristi is not between Ruhi and Sandip.

83. gfe ¥ Tl § Yww = feufy 7w 32

(A) ThE =g (B) =t 3R g@u

(C) =l 3R e (D) =/ i R gEU

What is the position of Reshma with respect to Sristi?

(A) Immediate left . (B) Second to the right

(C) Fourth to the right (D) Second to the left
84. Trafafad 4 9 # v =& 87

(A) Wifed iR wat

(B) & it g

€) HfEe iR T

(D) % &R Hifed

Which of the following are not neighbours?
(A) Sahil and Ruhi |

(B) Raunak and Rohan

(C) Sristi and Raunak

(D) Sandip and Sahil

[39] CQRP- 2



wvT Hear 85 3T 86 & fog g -
=1 M2 fefad § § vegs & fou wEivs sygs s 9

Direction for Question Nos. 85 and 86 :

Choose the most appropriate response for each of these given situations :

85. T ¥1 4 Guar =9 ¥ WG A1 & faU S0 ¥ SR § gUR I © 1 TR, s
AIHA UH A @0 € Wel w3 qar il O e 9§ 9uY 981 § 1 W :
(A) =i #:1 qerzm agn
(B) &9 F2 ¥H & ganedi =1 wermm w40 s whew F Twsha T w0
(C) oA F IR 1 J&@ F W@ T F 60 Fo wHEATE HeE I8
(D) m@ﬁ%me%mwmmmma@
Recently, the job market has improved for professionally qualified youth, Yet, you

gsters are still not able to get jobs. You

have come across cases where manv vol

would :

* Learning App
India's best

W conline learning g3
platfarm N

(A) raise the job availability

assist the youth with some money of your own but would not compromise on

(B)

procedures

(C) ignore some procedural steps to cater to the employment needs of the youth

(D) go by rules and regulations to take steps like vocational training to create self-

employment opportunities for unemployed youth

[40] CQRP- 2



86.

87.

319 T e T % AR SR Faed § 3R I 1 7 % STR-u Yo gl 6 {7

e Ft omgfd ¥ fag el SR &1 R o s WA A aiferan same FHRET

W & fag w8t T ¥

(A) 3T I F |y IR WHITG F A i off Frafha store w3
Fiwn H R w

(B) fret Wt we wew | qU FW ¥ AU Wewm d W @ Sl

(C) 4& Wrae M w01 f& s 3 off 8 smem

(D) 39 wsiuH @ foeied div 30

You are the Senior Production Manager of a steel firm and have won the bid to

supply steel for railway bridges across the River Ganga. You have been asked to

ensure maximum ;;roduction in the next eight months. You would :

(A) plan out a production strategy with your team and monitor production schedule
at regular int;rvals

(B) pressurise the production team to meet the target anyhow

(C) relax, thinking that the work will be done anyway

(D) pass on the responsibility to higher management

=) dem g fau g €, fod @ @ R 9 R v 0w R ¥ SR w i R
39 §en g F1 =991 S a0 fiE T

(A) 4:384 B) 7:399

(C) 6:258 K (D) 8: 576

Four number pairs have been given, out of which three are alike in some manner

and one is different. Select the number pair that is different :

(A) 4:84 (B) 7 : 399
(C). 6 : 258 (D) 8 :576
b con (411 .  CQRP- 2



Wy T 88 3 89 & fow Fdyr .

frafafad SRR & SFYEs 9o I8 T Yv & I ST
FUH HHE & WA q AR FubEl § waw & fag ge gma Ars wfyd Ry T
frafafed $o sl § R a2, sufel o & a0 g9 = IENRA @ qaN
%W'@Hiﬁ%:
() SHHER & aw ¥t TR wlael ¥ ofga w9 ¥ F9-9-%9 8 WALHT g
T | TE.STLET, 98 @R §, S o Siwe gdenel § 10 7 ¥ umr #
(i) SHIER % 9" YRR qheel ¥ uw ¥ orfuw deant 7€ g ameT
(if) SHHIGAR ®l FPeX WEH H duer i TeErst a1 gE aede § duer AT
THEST ¥ Sae g =it
(iv) SHiGERl &1 amg 21 9¥ ¥ 1 &R 27 ad ¥ stfuw T o =T
frafafad = Sew w3t Wil = g w3 9@ sefleer F Tme o
(a) SR (i) W, gt & I=ficar & 99 8.5 ¥ fyd & WRAAT T, @ w
WIEEHR &1 9 8
(0) IWE () W, T & IWigaR 7 FH-Q-0 gt Iqex gdemed § ofgaw
7.5 QESLTT @R & § FEET fFa F ¢ 9ig BE AT T@ 8, o 98
fafaa ien & faT o= gm

e Tod® g H TF SHGaR @ faaw e T ® 1 owe sw @ 7 vRt ok vas
WA ) T T § SR W Freien § Y wReiE S0t an siv v el
W &Il Wl 9T IW & 4 A fafga HE 01 D TolF wH ¥ @ 6 weed ¥
sifafte i eqem & o &1 |

Direction for Question Nos. 88 and 89 :
Read the following information carefull‘y and answer the questions that follow -

For selection in IT companies through campus placement, certain eligibility criteria have
been set up. Following are some requirements as IT companies are looking for some decent
candidates for recruitment : |
() Candidate should have at least 8 SGPA as average of all the semester exams.
SGPA is the score which a student gets in semester exams out of 10

(i) Candidate should not have more than one backlog in the semester exams

D - [42] CQRP- 2



(i) Candidate should have done graduation in either Bachelor of Technology 1n

Computer Science or Bachelor of Technology in Information Technology

(iv) Candidates should not be less than 21 ycars of age and also not more than 27
years of age

In the case of a candidate fulfilling all the conditions, cxcept

(@) At (i) above, a candidate has SGPA of more than 8.5, then he would be eligible
for interview

(b) At (i) above, a candidate has managed to score at lcast 7.5 SGPA as average of

all semester exams but has no backlog, then he will be cligible for written test

In cach question below, details of one candidate are provided. You have 1o take one
of the following courses of actions based on the conditions given above and the
information provided in each question, and mark the number of that course of action

as your answer. You are not to assume anything other than the information provided
in each question.

88. Wﬁaﬁﬁmm%ﬁaﬁﬁﬁ'wﬁaﬂwww%:wﬁmﬁ
JuFT o TEST AT 9.25 1 9% 26 WAl I T

(A) T WEHR S A T

(B) g =34 faar smam
(©) ¢+ fofa o & fag i@ S
(D) IqE T Tl fHa S

+* Learning .ﬁpp@

India's best
R cnline learning
platform

Divya, graduate in Bachelor of Technology in Computer Science, has zero backlog.
She has an average SGPA of 9.25 in all the semesters. She is 26 years old.

(A) She will be eligible for interview

(B) She will be selected

(C) Data insufficient to take any decision

(D) She will not be selected

[43] CQRP- 2



89. Yl

90.

aﬁaﬁﬁﬂﬂmaﬂwéﬁahﬁﬁwmaﬁuﬂﬁmﬁmwweﬁ

it e § 7.8 F owa washdy wifaw fw Tl

(A) SH&1 wgA el f6a s

(B) @ wyrhi & ferg WA @

(C) g guA foan wmem

(D) =% fafaa v & fau o= @m

Rohit, a 24-year old graduate in Bachelor of Technology in Info
has scored average SGPA of 7.8 in all the semesters without any backlog.

rmation Technology,

(A) He will not be selected
(B) He will be eligible for interview

(C) He will be selected
(D) He will be eligible for written test

T T § mae g & 15% Taemel 3 waer e fwar 3R 80 Haw@is 1 HAwA W
et i o e @ SEicar ¥ fas @ gEt 7 sifea o Haammst H 46% H
Tuefs W o1 ofv I a9y wiigwl ¥ 591 wa v fiydt | fasiar =1 el w4l =t @@ 9

BT :

(A) 3358
(B) 5037
(C) 3266
(D) 2847

In an election, 15% of the voters on the voters’ list did not cast their votes and
80 voters casted blank votes on ballot paper. There were only two candidates. The
winner was supported by 46% of all the voters mentioned in the list and he got

591 votes more than his rival. Find the number of votes winner got :

(A) 3358
(B) 5037
(C) 3266
(D) 2847

[44] CQRP- 2



91. AfCa, b, c 3N 4 4R qutw & f

29 1

136 1

@ (5a + 2b — 4c + d) 1 TH T -

(A) 0
B) 3
€ 4

(D) 2

If a, b, c and d are integers such that

29 1

136 1

a-+
b+

then find (5a + 2b — 4c + d) :
Aa) 0
(B) 3
© 4

D) 2

°|

[45]

CQRP -
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o, T % B TR T, F
92. uﬁwwmwﬁmw(sp)amo%%aﬂ??@/ K

™ g2 F w9 qed (CP) ¥ I WA HIIC :
(A) 2:7
B) 5:9
(C) 18 :35

(D) 10: 63

. v iscount % e
If the discount on a book is 40% of the selling price (SP) and disc o equals

profit %, then find the ratio of discount offered to the cost price (CP) :
(A) 2:7
B) 5:9
(C) 18:35
(D) 10 : 63

93. Uw I3M % fasw s o st oo % g fane o1 31 7 : 2 € | SR S
aﬂtﬁmﬁﬂmmmmﬁm@rmﬁﬁﬁmzﬁzs%aﬂmﬁeﬁmﬁ%m
¥ 1,07,445 o, <1 foome Fam@ F A gR EE B TS He U 96 SR -

(A) ¥ 39,725
(B) % 46,375
(C) % 42,500
(D) ¥ 43,225

The airfares of business class and economy class of a flight are in the ratio 7 : 2. The

number of passengers travelled by economy class and business class were in the ratio

26 : 5. If the total collection was ¥ 1,07,445, then find the total amount paid by the
business class passengers :

(A) ¥ 39,725

(B) % 46,375

(C) ¥ 42,500

(D) ¥ 43,225

b  [48]

CQRP- 2



9. Jl:}v" 5 \/?4(,5.’; v Tl "ﬂl*-fi[ﬁ’ﬁ "175’{”7, %5
(A) 227
(B) 254
(C) 283

(D) 245

How many natural numbers are there between /372 and /74629 7
(A) 227

(B) 254
(C) 283
(D) 245

India's best
3 online learning
platform

3

. a.

95. I:ﬁ:aai’r{[i,xl—zx—l=0mﬂm’mqa%,ﬁ1wmﬁmmw%mqa?
B 3
m?b?

(A) x2-82x-1=0
(B) x2+42x-1=0
(€ x2-4lx-1=0
(D) swE § @ &g T

If @ and f are the roots of equation x?- 2x — 1 = 0, then what is the equation whose

3 3
a
roots are —5 and 'PT?
B o

(A) x*-82x-1=0
(B) x+42x-1=0
(C) x2-4lx-1=0
(D) None of the above
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96. TX 3R n-'qaaﬁmﬂmﬁaﬂtowmw%uqaﬁmsﬁnﬁ.t A T0)

A —
F o 17 A, @1 afe e TXY @6 e A &, @ J%ammm.

@A) 302
17

30

= 17

TX and TY are tangents to the circle and O is the centre of the circle. The radius of
the circle is 8 cm and the length of 7O is 17 cm. If the area of the trangle 7X7 is

A, then the value of 1’310 is 3

X
T
Y
() 3042 @ [B
17 17
L 15
= 17 (D) 1_7
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97. 19v2 w-waﬂwwmmﬁqﬁ.ﬁm#wmﬁﬁﬁﬁm%!w

98.

(A) 4158

(B) 3292
(C) 3486
(D) 3722

A cubical box of diagonal 192 cm is surmounted by a hemisphere of radius

14 cm. What is the total surface area of the solid thus formed [in cm?2]?
(A) 4158

(B) 3292
(C) 3486
(D) 3722

s fafvaa ofer @ 12% wfa od %1 < § < a6l & fou a%afe = 7 3,816 ®, 9%
= 1T &9 § Halfad gol §1 T T

@Ay ¥ 15,000

(B) % 10,000

(C) ¥ 12,500

(D) % 14,500

The compound interest on a certain sum for 2 years at 12% per annum is ¥ 3,816,
when the interest is compounded yearly. The sum is :

(A) ¥ 15,000

(B) ¥ 10,000

(C) ¥ 12,500

(D) ¥ 14,500
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100.

87@%@@%1?6@#%1@1?&7@34@%15:14%|Wqﬂ&nﬁagaﬁm
' [ 152 oft ol 1 offaa 3w 63 ¥,
' kel "uuaqu%|aﬁﬂ
sifgq e wrefwdl H g 163/
a@ﬁﬁfmTﬁmﬁaﬁ;mm%?

(A) 58 (B) 56

€y 522 (D) 57
In a class of 87 students, the ratio of boys to that of girls is 15 : 14. The average
score of boys in a test is 16%—% more than that of girls. If the average score of all
students is 63, then what is the average score of girls?

(A) 58 (B) 56

(© 52.2 (D) 57

5 q69 3i 4 wfeend ww wW W 27 A W U s g €, E@fE 7 9eu oK 9 Afeend
SHEm R ISEAY W R TE @ FE w 111.11%, 2 769 3R 5 ofeend
fra feAl & @@ 812
(A) 35 fe

(B) 42 fea

(C) 37.5faa
(D) 40.5 &=

5 men and 4 women can complete a work in 27 days, whereas 7 men and 9 women
can do the same work in 15 days. In how many days can 2 men and 5 women

complete 111.11% of the same work?
(A) 35 days |
(B) 42 days

(C) 37.5 days

(D) 40.5 days
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